EXAMPLE 2.

e paid 3-week vacation no vacation B paid 1-week vacation
50% 50% - 100%

Suppose Ann says B > A| How would she rank

paid 3-week vacation no vacation paid 1-week vacation no vacation
= = r)
5% 95% ) 10% 90%

IS (F fo\l'l'ouo/a {‘o Jo.), B>A

Cu d C > D
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Money lotteries
(339 $25J
M =
11
2 2

Suppose Bob’s vNM utility function is: U($x) = \/;
EU(L)]= EUM)]=
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Suppose Bob’s vNM utility function is: U($x) = \/;
ElU(4)] =

BU(B)]=
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U(Sx) = x*
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Re-define attitudes to risk in terms of utility:

Risk-averse if

Risk-neutral if

Risk-loving if
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U($x) = x°
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Theorem 2. Let > be a von Neumann-Morgenstern ranking of the set of basic lotteries L. Then the following are true.

(A) If U:Z - R 1s a von Neumann-Morgenstern utility function that represents =, then, for any two real numbers a and b

~

with @ > 0, the function ¥ :Z —» R defined by V' (z,)=aU(z,)+b (i =1,2,...,m) is also a von Neumann-Morgenstern
utility function that represents - .

B)Ifu:Z—»R and V:Z - R are two von Neumann-Morgenstern utility functions that represent -, then there exist two
real numbers a and b with @ > 0 such that V(z,)=aU(z,)+b (i=1,2,...,m).
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